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import java.util. Scanner;
import java.text.*;

public class NetincomeSwitch{
public static void main(String args[]){
Scanner input = new Scanner(System.in);
System.out. prlnt("‘j- »EEhET N FEESTE R,

double income = input.nextint(); //Z~{F & * {fﬂi%] »Z2EfTr SFRE TR
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#include <iostream.h>
class CA{
public:
CA(){a=30; b=40; c=50; }
int a, b, c;
¢
class CB: public CA{
public:
CB(){ x=10; y=20:}
int x, y;

int getM(){ return x*y; }
int getN(){ return CA::a*CA::b*c/x; }

I
main()
{
CB b;

cout<< "result= "<< b.getM()<< endl;
cout<< "result= "<< b.getN()<< endl,

b.CB::x =5;
b.a=1;
b.CA:a=05;
b.c=2;

cout<< "result= "<< b.getM()<< endl;
cout<< "result="<< b.getN()<< end];
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return value is 300
return value is 240
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01. #include <iostream.h>
02. class ClassA{

03. public:

04. ClassA(){a=5; b=10; c=15;}

05. int a;

06. protected:

07. int b;

08. private:

09. int c;

10. h

11. class ClassB: public ClassA{

12. public:

13. ClassB(){ x=2; y=3; }

14. int getReturn(){ return a*b*c; }

15. protected:

16. int X;

17. private:

18. inty;

19. h

20. main()

21. {

22. ClassB val;

23. cout<< "return value is "<< val.getReturn()<< endl;
24. val.b = 2; val.c = 3; val.x = 2; val.y = 3;
25. cout<< "return value is "<< val.getReturn()<< endl;
26. }
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